Rational Numbers
Exercise 4G

H.C.F. of 33 and 55 is 11
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H.C.F. of 102 and 119 is 17
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The standard form of % is =2
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Answer :

The correct option is (a).
The value of = is — 14.
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Answer :
The correct option is (c).

4 should be added to - to get 1.
Let the required number be z.
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Answer :

The correct option is (b).
Let the number that is to be subtracted be z.
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Hence, — % should be subtracted from ‘TS to
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Hence, - is smaller than —Z .
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Answer:

The correct option is (a).

2x-1 _ -2
3x-1 " 3
L.C.M. of 3 and 5 is 15.
. =2x5 _ —10 —4x3 _ 12
* 3xh 15 5x3 ~ 15
Thus, _13 is greater than ‘T“ .
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Answer :

The correct option is (c).
Reciprocal of — 6 is %1 .
Q9
Answer:

The correct option is (b).

Multiplicative inverse of _T2 is —Ta .



Q10

Answer :

The correct option is (a).
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Answer :

The correct option is (c).
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L.C.M. of 13 and 15 is 195.
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Answer:

The correct option is (b).
1 3
—23 +4z
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L.C.M. of 5 and 5 is 15.
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Answer:
The correct option is (b).
_ﬁ? is preater than ‘Tf* .
L.C.M. of 9 and 12 is 36.

—5x3 _ 15
12x3 36
—4x4 _ 16
12x4 36
(—15) = (—16)
5 . -4
=70
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Answer :

The correct option is (b).
a4+ 7=-1

o ]

p_ 1449

L.C.M. of 4, 6 and 3 is 12.
_ 151448

(c)0

0+ < =0
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Answer:

(d) Not defined

This is because — <+ 0 is not defined.



